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nin: =CHIINY(B10/2,810-1)/CHIINY(1-B10/2,810-1)
n  « n
12.3
n
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12.3: n /

EREZOLE/ TR

12.3 1

E—t(n—l,a)\/g<u < T—l—t(n—l,a)\/g
2t(n — 1, @)\/a3/n
I
VV
EVV = o
c Vv 0]

R (R )
VIr6/2)

12.2(p.189)

Excel TI'(x) =GAMMALN
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n &t o (EEELE

g 0.0% 2 2.48 ‘|| *lﬁWIE.E,p-ISB 4

DI7: =E«TINV(BL17,A817-1)*C17/SQRT(ALT)
#30RTCZ/(ALT-1) ) +ENP (GAMMALN COALT) /2) -GANKALN (CA1T-1)/30)

n 12.4
2 xc*
12.4
2
Vi of Vi
F(nlanZ; ]-_a/2)V; < O__;Q < F(n17n2; a/Q)V;
F(ni,ng; 1 —a/2) 5
F(n1,n2; a/2)
n=n;=mnm
12.5:
n & 15 RERR FEE
15 0.0% 8.h3 *l | *lﬁmli.4,P-191 15
\D24:  =FINV(BZ4/2,424-1,A24)/FINV(1-B24/2, h24-1,424)
ny =ns n oo n
/ 12.3
n
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12.6: n /

11 .0
10 .8
=9 .B
L8 4
57 .2
o B .0
ﬁg L .8
w4 .B
g g 4
£ .2
1 : 1.0
0 a0 41 n 0 a0 100
12.5
1
(T1—T2) — t(u +n2 —2,q) V(——+;£><LH—M2<
— | = 1 1
(T1+T2) +t(m +n2 —2,q) V(——+——)
ny o ng
o2
2t(2n—2,a) NG 0
n=ny=ny
12.7:
n o a (EEELE
4 0.0h 1 1.487 ‘ll *lﬁm12.5,p.193 d
IERE =2+TINV(B31, 2+ (A31-1))+C31/3QRT( AL/ 2)

*SORT(2/ (2% (A31-1)) ) +EXP (GAWMALN ((2x(A31-11+1) /2]
-GAMMALN C(2+(A31-100/2))
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12.6

a—t(n—l,a)\/% <p—p2<d+tn—1,0) %

2t(n — 1, a)

n o g (EEELE

40 0.0% g 1.48 ‘|| l*|1'}1J12.E,I:'-IEI5 0

E38:  =Z+TINY(B39,A38-1)+C38/3QRT(A39)
#3ORTCZ/(A39-1) ) «ENP (GANMALNCCA38)/2) -GAMMALN ((439-1)/2))

30



13

13.1
Excel
Excel
13.1
13.1:
HiETHES TEOHROERFICATT 5.
AHTIREIROSILT

ok x| BHE | TlEESE dfiEsE s
BHEFIR A | 2.000 0977 0.045 0023

1.960 [ 0.050

1545 n.0s0|
28y | eo4sz] 10 0475 0050 0025

3247 10 0025 |

15307] 1o I 0.050]

L ¥arir] 1a60] 10 0951 0073 00349

szez| 10 I 0060

13182 10 n.0s0]
F&m 31456 z 5 03386 0223 o114

0.025 2 5 0025 |

1107 g 5 I 0.400]

13.1 3
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13.2

2
3.2 3.4(p.37) 3.2
13.2: 3.2
A | B [ © D E | F | & | W | 1 J K L

1 €17 1-f (5] o= 0.05

2 n a & o N G & n

3 9 0.05 0.6 0.562 0.000 0.437 3 16 25
4 -1.0f 0.000 0.000] 00000
5 (2) 1-p -0.8| 0,000 0,000 00000
5 o al @ Tal &6 -0.6| 0.000 0.000 O0.000
7 9 0,05 0.6 0.562 0.000 O0.437 -0.4| 0,002 0,001 0000
g -0.2| 0,012 0,007 0.004
g £3)  a= 0,05 -0.1| 0,026 0.020) 0.018
10 & n -0.05| 0.036 0.03% 0.029
11 3 1B 25 0.00[ 0.050 ©.050] 0.050
12 0.E 0562 0.05( 0.087 0.074] 0082
13 0.1 0,083 0107 0.128
14 | (4) a=  0.05 0.2| 0.148 0,198 0.260
15 & n 0.4 0.328 0,482 0.633
18 3 1B 25 0.6| 0.562 0.775 0.912
17 0B 0.562 0.8| 0.775 0,940 0.991
1% 1.0] 0.812 0.991) 1.000

(1) 3 E3

=NORMSDIST (D3*SQRT (B3)-NORMSINV (1-C3))

(3) n, a, A
C12
=NORMSDIST (B12*SQRT(C11)-NORMSINV(1-C9))
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=NORMSDIST ($B17*SQRT (C$16) -NORMSINV(1-$C$14))
o A

5 13.3
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13.3

Excel

134

13.4:

ko= LEEERE

13.4

6 3.3 1 100 n
10 n

10
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13.4

NTDIST, NFDIST, NCDIST F 2

F 2 TDIST, FDIST, CHIDIST

TDIST t

FDIST, CHIDIST

NORMSDIST NTDIST t
NTDIST 1
VBA Excel
FORTRAN VBA
7
1972)
t p-246
F p-248
2 p-250
T (% ) p.245
7 F FORTRAN ,
10
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13.5 JMP

JMP X 2
Excel
Excel JMP
13.5 3.2 5.2
13.5: 1
|
= n a A 1-p 2 1-p § # I3
1| 9| oo5| 06| 0562 05004035 53
ol olooes| 06| 0436 0354|033 51
3| 44| 0os| 08| 09593 0847 40310
Al 25| oos| 08| 0804 0783|5311
5 110025 1] 0813 084g |fiilkg
Gl 45| 005| 08| 0996 0851 |{05s
71 27 oos| o&| o0s30| 0812 |f0ES
| 130025 1] 0550 0911 |57
3.2 5.2 13.5
A a
1-63,1-065 83 o ,85 o )

1-063 1-NormDistribution (NormQuantile (1-da )-A * Root(n))
1-065 1-tDistribution(tQuantile (1-a , n-1), n-1, A * Root(n))

tDistribution, tQuantile Excel TDIST, TINV

tDistribution 3 A/

JMP n
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13.6 7.1

;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;

nl | neg o | 1-p 7 &
11 10| 8| 005 06| 0332 |73
o| 10] glooes| 06| 0221|171
3 11 11] 005 15| 0860
4
5

100 10| 005 12| 0829 {79
oo | 2o 0005 11 0800 |77

1-tDistribution(tQuantile(1-0 ,n1+n2-2), nl1+n2-2,A* Root(nl*n2/(nl1+n2)))

JMP
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